ET 332a Dc Motors, Generators and Energy Conversion Devices

# Lesson 9: Power Balance and Efficiency in Dc Generators

# **Learning Objectives**

After this presentation you will be able to:

- Identify the sources of power loss in separately excited dc generators and compute their values
- Balance the input and output power of a separately excited dc generator.
- Compute generator efficiency
- Explain how changing generator load affects efficiency
- Explain how the generator/motor and motor generator transition takes place in dc machines



### **Power Balance in Armature**

Electric power developed at the armature is equal to the electromechancial power delivered from the shaft.

$$P_{em} = P_{e}$$
$$T \cdot \omega = E_{a} \cdot I_{a}$$

To find P<sub>e</sub>, add electrical losses to output electric power, P<sub>oe</sub>

 $P_{\rm e} = P_{\rm oe} + P_{\rm acir} + P_{\rm b}$ 

In terms of armature circuit variables the above is:

$$\mathbf{P}_{\mathrm{e}} = \mathbf{V}_{\mathrm{t}} \cdot \mathbf{I}_{\mathrm{a}} + \mathbf{I}_{\mathrm{a}}^{2} \cdot \mathbf{R}_{\mathrm{acir}} + \mathbf{V}_{\mathrm{b}} \cdot \mathbf{I}_{\mathrm{a}}$$

Where  $V_b = 0.5$  for metal-graphite brushes = 2.0 for electrographitic and graphite brushes







### **Efficiency Example**

**Example:** A 25 kW, 120 V, 1800 rpm separately excited generator is delivering rated current. The stray losses of the generator are found from test to be 1.5% of the rated output. The total core, friction, and windage losses are 2.0% of rated output. R<sub>acir</sub> =0.0280  $\Omega$  Neglect the losses of the field circuit. Assume graphite brushes.

a.) Find the power in HP that the prime mover must develop at rated speed to drive the generator

b.) Find the efficiency of the machine operating at rated load.

c.) Find the efficiency of the machine when operating at 0% 25%, 50% and 75% of rated output. Assume that rated terminal voltage is maintained at the generator output as the load varies.

d.) Plot the % efficiency vs the % load and comment on the result



## **Example Solution Continued**

Remember  $P_e = P_{em}$  in armature

Add mechanical losses Pem = Pe  $P_{mech} = Pem + P_{fw} + P_{stray} + P_{cone}$   $P_{stray} = \frac{1.59}{1000}(25,000) = 375 \text{ W}$   $P_{cone} + P_{fw} = \frac{2.00\%}{100\%}(25,000) = 500 \text{ W}$   $P_{mech} = 26,631.5 + 325 + 500 \text{ W} = 27506.3 \text{ Walt}$ a)  $P_{HP} = \frac{27,506.3W}{746 \text{ W}/HP} = 36.87 \text{ HP} ANS$ 

Now compute the efficiency at full load

b.) 
$$\mathcal{N} = \frac{P_{out}}{P_{in}} \times 100\% = \frac{P_{oe}}{P_{mech}} \times 100\% = \frac{25,000}{27504,360} \times 100\% = \frac{90.89\%}{3}$$

## Efficiency Example: o % Output

Compute the efficiency at o% output power

at 0% Load 
$$I_a = 0$$
 So  $P_{acin} = 0$  Racin  $0$  ARMATURE LOSSES  
 $P_b = 2I_c = 2(0) = 0$  brush losses  
 $P_{oe} = 0$   $V_t I_a = 0$   
Mechanical Losses Still Present  $P_{rated} = 25,000$  W  
 $2.0\%$  Rated  $P_{cw} + P_{cre} = 25,000 (0.02) = 500$  W  
 $1.5\%$  Rated  $P_{stray} = 25,000 (0.015) = 375$  W  
Electrical Output of Armature  
 $P_e = P_{oe} + P_b + P_{acin} = 0$  watts  $P_{em} = P_e = 0$ 

### Efficiency Example: o% Output

Total Mechanical Power Developed is power necessary to over come mechanical losses.

Shaft power required of prime mover to overcome mechanical losses

Now compute the efficiency with o% output

$$\% \eta = \frac{P_{so}}{P_{med}} \times 100\% = \frac{0}{875W} \times 100\% = 0\%$$

# Efficiency Example 25, 50, 75%

Now compute the efficiencies for the other load levels

At 25% Rated Load 
$$P_{ae} = \frac{25\%}{100\%}(25,000) = 6250W$$
  
 $I_{a} = \frac{P_{0e}}{V_{t}} = V_{t} = 120V$   $I_{a} = \frac{6250W}{120V} = 52.08A$   
 $P_{ac1R} = I_{a}^{2} R_{0c1R} = (52.08A)^{2} (0.028 s) = 75.95W$   
 $P_{b} = 2(I_{a}) = 2(52.08A) = 109.16W$ 

From previous calculations  $P_{tw} + P_{core} = 500 \text{ W}$   $P_{stray} = 376 \text{ W}$ 

12

11

# Efficiency Example 25, 50, 75%

Electric power developed

$$P_{e} = P_{e} + P_{acin} + P_{b}$$

$$P_{em} = P_{e}$$

$$P_{e} = 6250 + 75.95 + 104.16 W$$

$$P_{em} = 0 \text{ armature mechanical}$$

$$P_{e} = 6430.11 \text{ wath} = 0 \text{ mech} + P_{stray} + P_{tw} + P_{core}$$

$$P_{mech} = 0 \text{ mech} + P_{stray} + P_{tw} + P_{core}$$

$$P_{mech} = 6430.11 + 375 + 500 W = 7305.11 W$$

$$Prime \text{ mover required horsepower}$$

$$N = \frac{P_{oe}}{P_{mech}} \times 100\% = 6250 W \times 100\%$$

$$P_{HP} = \frac{P_{mech}}{746 W/HP} = \frac{7305.11W}{746W/HP} = 9.79 HP$$

$$N = \frac{85.56\%}{7}$$

# Efficiency Example 50, 75%

Now compute efficiencies for 50 and 75% loading

At 50% And 75% Rated load  

$$P_{oe_{50}} = \frac{50\%}{100\%} 25,000 = 12,500 W. I_{a.50} = \frac{9}{V_{b}} = \frac{12,500}{120} = 104.2A$$
  
 $P_{oe_{50}} = \frac{75\%}{100\%} 25,000 = \frac{18,750}{120} W. I_{a.75} = \frac{9}{V_{d}} = \frac{18750}{120} = 156.25A$   
 $P_{ower} Loss at 50 and 75\% Rated$   
 $P_{b.50} = 2(104.2A) = 208.3W P_{acin.75} = (104.2)^{2}(0.028) = 304.01W$   
 $P_{b.75} = 2(156.25A) = 312.5W P_{acin.75} = (156.25)^{2}(0.028) = 683.6W$ 

Finally compute the total power losses for 50 and 75% load

14

# Efficiency Example 50, 75%

Electric power values in armature

$$P_{ess} = 12,500 + 208,3 + 304.1 W P_{e7s} = 18,750 + 312.5 + 683.4 W$$

$$P_{ess} = 13012.4 W P_{e7s} = 19,746.1 W$$
Add fixed losses between armature and shaft to get the required shaft power
$$P_{shaft50} = 13012.4 + 875 W P_{shaft75} = 19796.1 + 875 W$$

$$P_{shaft50} = 13887.4 W P_{shaft75} = 20,621.1 W$$

$$P_{rime} mover Hp 50\% P_{rime} Mover Hp 75\% P_{Hp} = \frac{13887.4 W}{746 W/Hp} = 18.62 HP P_{Hp} = \frac{20,621.1 W}{746 W/HP} = 27,64 HP$$

# Compute Efficiencies at 50 and 75%

$$\mathcal{N}_{50} = \frac{12500}{13337.9} \times 100^{\circ} / 0 \qquad \mathcal{N}_{75} = \frac{18.750}{20,621.1} \times 100^{\circ} / 0 \qquad \mathcal{N}_{75} = 90.93^{\circ} / 0 \qquad \mathcal{N}_{75} = 90.93^$$

Power losses related to I<sub>a</sub> are called load losses since they relate to the generator loading

Maximum efficiency occurs when the fixed losses equal the load losses.

8

16



#### Generator-to-Motor and Motor-to Generator Transitions



### Generator-to-Motor and Motor-to Generator Transitions

For motor action, current must enter the positive terminal of the machine:  $V_{sys} > E_a$ 



# End Lesson 9: Power Balance and Efficiency in Dc Generators

ET 332a Dc Motors, Generators and Energy Conversion Devices

